Agile Project Delivery Test Bank

Chapter 1: Agile’s Lean Foundations

Multiple Choice Questions

1.

Why do projects always contain an element of risk?
a) they are temporary

b) they are unique

c) they use SMART goals

d) they achieve an organizational goal

Lean was developed by Taiichi Ohno in the 1950’s. Lean was developed to:
a) improve software development

b) to support mass production in the automotive sector

¢) create a pull-based framework

d) ensure a sufficient inventory of vehicles to support global sales

Which is not a Lean principle?

a) maintain an unrelenting focus on providing customer value

b) take the short-term view

c) value and respect people

d) provide exactly what is needed at the right time, based on customer demand

Which is not the purpose of a Kanban board?
a) minimize in-progress items

b) visual management tool

¢) quality assurance

d) improve process flow

Which is not part of the Agile family of methodologies?
a) Scrum

b) Kanban

c) Crystal

d) XP

Adaptive project management techniques should be used when:
a) project requirements are clear
b) designs are available
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¢) incremental progress and review is needed
d) the entire project can be planned in advance

What is the Japanese term for eliminating waste that comes from unevenness?
a) mura

b) muda

¢) Kanban

d) jidoka

True/False Questions

1.

2.

Continuous Improvement specifically refers to the process of implementing incremental
change that reduces or eliminates waste. (F)

Kanban is a Japanese word that means progress chart. (F)

The agile values (1) individuals and interactions over processes and tools, (2) working
software over comprehensive documentation, (3) customer collaboration over contract
negotiation, and (4) responding to change over following a plan, suggest that following a
plan, processes and tools, comprehensive documentation, and contract negotiation are not
valued and should be eliminated as forms of waste. (F)

Muda is a form of waste which refers to activities that do not directly contribute to
customer value. (T)
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Chapter 2: Agile Overview

Multiple Choice Questions

1.

Kaizen is a Japanese term for:

a) eliminate waste due to unevenness

b) eliminate waste that does not contribute to customer value
c) card you can see

d) to make good

What does PDCA cycle stand for?

a) plan, document, configure, accept
b) progress, direct, change, accept
¢) plan, do, check, act

d) plan, document, confirm, act

Why is the cost of change typically higher in waterfall projects?
a) significant amount of work would have to be redone

b) waterfall projects tend to be more expensive

c) waterfall projects tend to be more complex

d) stakeholders aren't as engaged in the process

Which is a scrum team role?
a) product manager

b) program manager

¢) product owner

d) project manager

The product owner is responsible for:

a) the amount of stories to be completed in a sprint

b) defining and prioritizing the team backlog

c) managing the scrum team

d) telling the development team how to complete a user story

The scrum master is not responsible for:
a) facilitating Agile methodology
b) coaching and mentoring the team to work in an Agile way
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7.

10.

11

12.

c) removing obstacles preventing the team from completing their work
d) completing and managing work

Who participates in the daily meeting?

a) the product owner and manager

b) the scrum master and the product owner
¢) the development team

d) all of the above

User stories are often expressed as:

a) must have, need to have, and nice to have requirements
b) high-, medium-, and low-level requirements

¢) persona, need, and purpose

d) business requirements

Who is responsible for creating the backlog?
a) customers

b) development team

c) scrum master

d) product owner

Using software to manage a backlog is recommended when:
a) teams are co-located

b) work is limited to one development team

¢) the backlog is large and complex

d) all of the above

. Which factor does not need to be fulfilled before a user story can be removed from the

backlog?

a) it 1is in the right priority

b) the development team member has enough work cycles

c) the development team member understands the story enough to perform the work
d) the product owner assigns it to the development team member

The four scrum events are:
a) sprint planning, scrum, sprint review, sprint retrospective
b) backlog creation, sprint planning, sprint review, sprint retrospective
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c) user stories, backlog creation, scrum, sprint planning
d) initiating, planning, executing, closing

13. Each sprint should have:
a) a sprint goal
b) a sprint backlog
c) user stories
d) all of the above

14. Which is not one of the three scrum questions?
a) What did you do yesterday?
b) What will you do today?
c) Are there any impediments in your way?
d) What will you do tomorrow?

15. In scrum, “completed” means that the user story meets the following criteria:
a) developed, inspected, documented
b) developed, trained, tested
c) documented, trained, accepted
d) developed, inspected, trained

16. What happens to user stories that are not completed during a sprint?
a) not applicable, a sprint is not completed until all user stories are complete
b) they are moved to a future sprint
c) they are released and issues are treated as bugs
d) they are broken into smaller stories

17. Which scrum event supports the following Agile principle: At regular intervals, the team
reflects on how to become more effective, then tunes and adjusts its behaviour
accordingly.

a) sprint retrospective

b) sprint review

c) lessons learned

d) continuous improvement

True/False Questions
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1. Incremental methodology means that each step in the process is dependent on the
previous one. If steps are not complete, it could delay the start of the next iteration. (F)

2. Inscrum: a series of PCDAs are referred to as sprints. (T)

3. Muri is a Japanese term that means to ensure resource waste is minimized by working
resources to their maximum capabilities for extended periods of time. (F)

4. The development team is a collection of software developers assigned to a sprint. (F)

5. User stories are prescriptive to ensure the development team knows exactly what to do.

(F)

6. The backlog enables the development team to select user stories and begin work on them.
The development team does not have to wait for another dependency to be completed.

(T)

7. The sprint review should only review features or outcomes that have been completed
during the sprint. (T)



